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printf(

scanf( , &v5);
result v5;
if ( v5 )
{
result V6 ;
if ( v6
{
result v7;
if ( v7
{
result v8;
if ( v8
{
result v9;
if ( v9
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result v14;
if ( vi4
{
vl v10;
v2 v1l;
v3 v12;
v4 v13;
for (i 0; i 15; i)
{
if ( *((_BYTE *)&vl + i) > 64 ((_BYTE *)&v1
((_BYTE *)&v1 + i) (*((char *)&v1 + i) 51)
if ( *((_BYTE *)&1 + i) > 96 ((_BYTE *)&vl
((_BYTE *)&v1 + i) = (*((char *)&vl + i) - 79)
b
for (i=20; 1 15; i)
{
result (unsigned _ int8)*(&v15 + 1i);
if ( *((_BYTE *)&vi i) (_BYTE)result )
return result;

)i
result = printf(

return result;
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a=[81,115,119,51,115,106,95,108,122,52,95,85,106,119,64,108,0]

if k>64 k<=90:
k=(k-51)%26+65
if k>96 k<=122:
k=(k-79)%26+97
if k==a[i]:
flag (z)
print(flag)

83%flag: flag{Cae3ar_th4_Gre@t}
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